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[Question ID = 710][Question Description = 150_19_BEN_SEP22_S4_Q50]
1. ¢35 A, D @32 E [Option ID = 2837]
2. %3 B, D @32 E [Option ID = 2838]
3. ¢®3= B, C @32 D [Option ID = 2839]
4, 337 C, D @32 E [Option ID = 2840]
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[Question ID = 711][Question Description = 151_19_BEN_SEP22_S4_Q51]
¢9e A, B @32 D [Option ID = 2841]
%< A, B @92 E [Option ID = 2842]
%9+ B, D @32 E [Option ID = 2843]
%35 C, D @32 E [Option ID = 2844]
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[Question ID = 712][Question Description = 152_19_BEN_SEP22_S4_Q52]
1. ¢35 A, C @32 D [Option ID = 2845]
2. %91 B, D @32 E [Option ID = 2846]
3. 3= B, C 432 D [Option ID = 2847]
4. 3951 A, D @32 E [Option ID = 2848]
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[Question ID = 713][Question Description = 153_19_BEN_SEP22_S4_Q53]
¢35 A, D @32 E [Option ID = 2849]
¢9e A, C @92 D [Option ID = 2850]
. (339 B, C 932 D [Option ID = 2851]
. (%99 C, D @32 E [Option ID = 2852]
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[Question ID = 714][Question Description = 154_19_BEN_SEP22_S4_Q54]
¢339+ B, C @32 E [Option ID = 2853]
%35 A, C 932 D [Option ID = 2854]
. ¢35 A, D @32 E [Option ID = 2855]
. (999 B, C 32 D [Option ID = 2856]
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[Question ID = 715][Question Description = 155_19_BEN_SEP22_S4_Q55]
1. ¢35 A, B @52 D [Option ID = 2857]
2. %395 B, C @32 E [Option ID = 2858]
3. ¢%3e C, D @3¢ E [Option ID = 2859]
4. 35 A, B @32 C [Option ID = 2860]
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[Questlon ID = 716][Question Description = 156_19_BEN_SEP22_S4_Q56]
%35 B, C @32 E [Option ID = 2861]
¢%3e A, C @32 D [Option ID = 2862]
. %951 B, D @3¢ E [Option ID = 2863]
. (%35 A, B @32 E [Option ID = 2864]
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[Question ID = 717][Question Description = 157_19_BEN_SEP22_S4_Q57]
%3+ A, B @32 D [Option ID = 2865]
¢%3e C, D @32 E [Option ID = 2866]
. @75 A, C @32 D [Option ID = 2867]
. (%991 B, C w32 E [Option ID = 2868]
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[Question ID = 718][Question Description = 158_19_BEN_SEP22_S4_Q58]
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¢33 A, B @32 C [Option ID = 2869]
¢%3 B, C @92 D [Option ID = 2870]

. 335 C, D @s2 E [Option ID = 2871]
. (339 A, C @32 E [Option ID = 2872]
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[Question ID = 719][Question Description = 159_19_BEN_SEP22_S4_Q59]

1
2
3.
4

. (339 A, B @32 C [Option ID = 2873]
. (#3751 A, B @92 D [Option ID = 2874]

(%91 B, C @32 D [Option ID = 2875]

. (9399 C, D @32 E [Option ID = 2876]
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[Question ID = 720][Question Description = 160_19_BEN_SEP22_S4_Q60]
1. 3= A, B @3z D [Option ID = 2877]
2. c%3s A, C @32 E [Option ID = 2878]
3. 3@ B, C 932 D [Option ID = 2879]
4. 33991 B, D @32 E [Option ID = 2880]

61) SRAFGI SIFET ‘AT Fia 2RFAN QI SM197 AT ST I A IR0 T S8F Ty (e e
A. ‘R Fret ER...)—a% RET 236D Stew T ‘fite sHieR’ a3k ‘P wifiia’ ow aaras

B. fit=ib 93 @AM ITW@R 5o Acac ‘Mg swidea’ oacs

C. O a3 FRAFACYR IR Sfo FwE ‘U @ A ke

D. ‘cotTR TF IS/ TH ©F / GTWCd SPoees 28 #Taiee *—ag FRORTIE SHfo© =TI ¥ T “GTWeAd i’ o7
E. becsd ‘FRugFM’ ocga bl Seafde qoaey ‘viE e Sfe’ dacwa oy

e MFCe (T-RFhre @b 6 v, ¢ ==

[Question ID = 721][Question Description = 161_19_BEN_SEP22_S4_Q61]
1. (=3 A, B 992 C [Option ID = 2881]
2. ¢%9e B, C @32 D [Option ID = 2882]
3. 33w C, D @s2 E [Option ID = 2883]
4. 37 A, D @32 E [Option ID = 2884]
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[Question ID = 722][Question Description = 162_19_BEN_SEP22_S4_Q62]
395 A, B @32 C [Option ID = 2885]

%9+ B, C @92 D [Option ID = 2886]

. 335 C @92 D [Option ID = 2887]

. (%991 D @32 E [Option ID = 2888]
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[Question ID = 723][Question Description = 163_19_BEN_SEP22_S4_Q63]
¢%9e A, B @32 C [Option ID = 2889]
%35 B, C @92 D [Option ID = 2890]
. %39 C, D @32 E [Option ID = 2891]
. (939 A, D @32 E [Option ID = 2892]
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[Question ID = 724][Question Description = 164_19_BEN_SEP22_S4_Q64]
1. 31 A, B @32 C [Option ID = 2893]
2. ¢%3=1 B, C @32 D [Option ID = 2894]
3. 3@ C, D @s2 E [Option ID = 2895]
4. 3351 A, D @32 E [Option ID = 2896]
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[Question ID = 725][Question Description = 165_19_BEN_SEP22_S4_Q65]
1. ¢35 A, B @32 C [Option ID = 2897]
2. ¢33 A, C @32 D [Option ID = 2898]
3. 39 B, C g3z E [Option ID = 2899]
4. 3371 B, D @32 E [Option ID = 2900]
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[Question ID = 726][Question Description = 166_19_BEN_SEP22_S4_Q66]
A-lll, B-1, C-lI, D-IV [Option ID = 2901]
A-111, B-1, C-1V, D-Il [Option ID = 2902]
A-Ill, B-1V, C-IlI, D-I [Option ID = 2903]
A-ll, B-I, C-lll, D-IV [Option ID = 2904]
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[Question ID = 727][Question Description = 167_19_BEN_SEP22_S4_Q67]
1. A-ll, B-1v, C-IIl, D-1 [Option ID = 2905]
2. A-l, B-1V, C-lIl, D-1I [Option ID = 2906]
3. A-1V, B-lll, C-1, D-1I [Option ID = 2907]
4. A-l, B-IV, C-Il, D-Ill [Option ID = 2908]
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[Question ID = 728][Question Description = 168_19_BEN_SEP22_S4_Q68]



. A-lI, B-IV, C-I, D-Ill [Option ID = 2909]
. A-Ill, B-IV, C-I, D-I [Option ID = 2910]
. A-IV, B-1, C-lIl, D-Il [Option ID = 2911]
. A-Ill, B-1V, C-Il, D-I [Option ID = 2912]
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[Question ID = 729][Question Description = 169_19_BEN_SEP22_S4_Q69]

A-IV, B-I, C-Il, D-I1l [Option ID = 2913]
A-Il, B-IV, C-I, D-IIl [Option ID = 2914]
A-IlI, B-1, C-Il, D-IV [Option ID = 2915]
A-lll, BV, C-II, D-I [Option ID = 2916]
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[Question ID = 730][Question Description = 170_19_BEN_SEP22_S4_Q70]

A-IV, B-1, C-Il, D-Ill [Option ID = 2917]
A-IV, B-Ill, C-1, D-Il [Option ID = 2918]
A-Ill, B-1V, C-II, D-I [Option ID = 2919]
A-Ill, B-1, C-IV, D-II [Option ID = 2920]
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[Question ID = 731][Question Description = 171_19_BEN_SEP22_S4_Q71]

1. A-IV, B-I, C-Il, D-Ill [Option ID = 2921]
2. A-lll, B-1V, C-I, D-Il [Option ID = 2922]
3. A-ll, B-Ill, C-IV, D-I [Option ID = 2923]
4. A-IV, B-IIl, C-Il, D-I [Option ID = 2924]
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[Question ID = 732][Question Description = 172_19_BEN_SEP22_S4_Q72]

1. A-IV, B-Ill, C-II, D-I [Option ID = 2925]
2. A-IV, B-II, C-Ill, D-I [Option ID = 2926]
3. A-ll, B-I, C-IV, D-Ill [Option ID = 2927]
4. A-l, B-Ill, C-IV, D-Il [Option ID = 2928]
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[Question ID = 733][Question Description = 173_19_BEN_SEP22_S4_Q73]

N wnN -

A-lll, B-1, C-Il, D-IV [Option ID = 2929]
A-IV, B-lll, C-1, D-II [Option ID = 2930]
A-lll, B-Il, C-IV, D-I [Option ID = 2931]

. A-ll, B-IV, C-lIl, D-I [Option ID = 2932]
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Question ID = 734][Question Description = 174_19_BEN_SEP22_S4_Q74]

1. A-1, B-IV, C-II, D-IIl [Option ID = 2933]
2. A-lll, B-II, C-1, D-IV [Option ID = 2934]
3.

4. A-Il, B-Ill, C-IV, D-I [Option ID = 2936]

A-11, B-1V, C-I, D-Ill [Option ID = 2935]
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[Question ID = 735][Question Description = 175_19_BEN_SEP22_S4_Q75]
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A-lll, B-1V, C-1, D-II [Option ID = 2937]
A-II, B-IV, C-Ill, D-I [Option ID = 2938]
A-IV, B-Ill, C-1, D-II [Option ID = 2939]
A-IV, B-II, C-1, D-1Il [Option ID = 2940]
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[Question ID = 736][Question Description = 176_19_BEN_SEP22_S4_Q76]
A-1ll, B-IV, C-II, D-I [Option ID = 2941]

2. A-ll, B-I, C-IV, D-Ill [Option ID = 2942]
3. A-IV, B-lll, C-1, D-II [Option ID = 2943]
4. A-1, B-IV, C-Ill, D-Il [Option ID = 2944]
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[Question ID = 737][Question Description = 177_19_BEN_SEP22_S4_Q77]
A-IV, B-11, C-I, D-Ill [Option ID = 2945]
A-Il, B-1V, C-I, D-Ill [Option ID = 2946]
A-lll, B-IV, C-II, D-I [Option ID = 2947]
A-11, B-lll, C-1, D-IV [Option ID = 2948]
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[Question ID = 738][Question Description = 178_19_BEN_SEP22_S4_Q78]
. E, B, D, C, A [Option ID = 2949]
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, D, B [Option ID = 2950]
, B, A [Option ID = 2951]
, E, B [Option ID = 2952]
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[Question ID = 739][Question Description = 179_19_BEN_SEP22_S4_Q79]
. C, D, A, B, E [Option ID = 2953]
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, C [Option ID = 2954]
, D [Option ID = 2955]
, C [Option ID = 2956]

80) ‘foort aafe T AT ToeT Sfafde g oMt stefes s et =1
A. 3=t SfF e iRe A,
i e o, w=a fest cot #nfR et
. OF ST (o5 230 fox S gamw
. @ 51 i =T gy i,
@ o ¢Mia sistig Bt B oer-art wfe,
. SICE ST o T3,
SR T ANeAGE TA
AT NS @ F U 2w Fe Aw ol B o vF [ o=

[Question ID = 740][Question Description = 180_19_BEN_SEP22_S4_Q80]

1. B, E, A, D, C [Option ID = 2957]
2. E, B, D, A, C [Option ID = 2958]
3. C, A, E, B, D [Option ID = 2959]
4. B, E, C, A, D [Option ID = 2960]
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[Question ID = 741][Question Description = 181_19_BEN_SEP22_S4_Q81]
1. D, E, A, C, B [Option ID = 2961]
2. E, D, C, B, A [Option ID = 2962]
3. A, D, E, B, C [Option ID = 2963]
4. D, A, E, C, B [Option ID = 2964]
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[Question ID = 742][Question Description = 182_19_BEN_SEP22_S4_Q82]
1. D, B, C, E, A [Option ID = 2965]
2. E, D, B, A, C [Option ID = 2966]
3. C, A, B, D, E [Option ID = 2967]
4. B, E, D, C, A [Option ID = 2968]
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[Question ID = 743][Question Description = 183_19_BEN_SEP22_S4_Q83]
C, D, A, B [Option ID = 2969]
D, C, B, A [Option ID = 2970]
B, D, A, C [Option ID = 2971]
A, C, B, D [Option ID = 2972]
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[Question ID = 744][Question Description = 184_19_BEN_SEP22_S4_Q84]
. A, B, E, D, C [Option ID = 2973]
B, A, C, D, E [Option ID = 2974]
E, D, A, C, B [Option ID = 2975]
D, E, B, A, C [Option ID = 2976]
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[Question ID = 745][Question Description = 185_19_BEN_SEP22_S4_Q85]
1. E, D, C, B, A [Option ID = 2977]

2. A, B, D, E, C [Option ID = 2978]

3. C, B, D, E, A [Option ID = 2979]

4. D, A, E, B, C [Option ID = 2980]
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[Question ID = 746][Question Description = 186_19_BEN_SEP22_S4_Q86]
. W®3y ¢ Yfr Tewz B+ [Option ID = 2981]

. g9y % fog Ifeh B= [Option ID = 2982]

. w3l e f¢g Ifeh B+ [Option ID = 2983]

. W83y ¢ Ifw Tewz o [Option ID = 2984]
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[Question ID = 747][Question Description = 187_19_BEN_SEP22_S4_Q87]
. Twu figfss B+ [Option ID = 2985]

. f=fo s B feg f[fe 2 51 [Option ID = 2986]

. R=fe s wr feg R3fe 2 B= [Option ID = 2987]

. %o¥ o3 1 [Option ID = 2988]
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[Question ID = 748][Question Description = 188_19_BEN_SEP22_S4_Q88]
. W®3y ¢ Yfw Tewz B [Option ID = 2989]

. g3 % %3 3feh <= [Option ID = 2990]

. g9l o %7 Ifeh B [Option ID = 2991]

. W87 ¢ Ife Tows o [Option ID = 2992]
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[Question ID = 749][Question Description = 189_19_BEN_SEP22_S4_Q89]
. RRfey ¢ R1fo 2 Tew3 B+ [Option ID = 2993]

. RRfe s B fog s 2 w7 [Option ID = 2994]

. f=fo s w1 feg [Rgfe 2 B [Option ID = 2995]

. Toy ffe e [Option ID = 2996]
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[Questlon ID = 750][Question Description = 190_19_BEN_SEP22_S4_Q90]
Sy fgfos B [Option ID = 2997]

. RRfe s B% fow s 2w [Option ID = 2998]

. fRfo s w1 feg [RYfe 2 BF [Option ID = 2999]

. %oy ffes e [Option ID = 3000]
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. etgf [Option ID = 3001]

. ¢ [Option ID = 3002]

. @91 [Option ID = 3003]

wi=EN [Option ID = 3004]
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ID = 752][Question Description = 192_19_BEN_SEP22_S4_Q92]
o1 wht [Option ID = 3005]

. ﬁ?—m% [Option ID = 3006]

. W==1 [Option ID = 3007]

. %4l @ 31z [Option ID = 3008]
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. ofarg =@ [Option ID = 3009]

. = [Option 1D = 3010]

. @==1 [Option ID = 3011]

. c23 [Option ID = 3012]
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[Question ID = 754][Question Description = 194_19_BEN_SEP22_S4_Q94]
. Teox [qfe2 B+ [Option ID = 3013]

. Refe s B9 fow e 2w [Option ID = 3014]

. 1o @ frg 73l 2 B= [Option ID = 3015]

. Toy ffe% w1 [Option ID = 3016]
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[Questlon ID = 755][Question Description = 195_19_BEN_SEP22_S4_Q95]
%35 A, B @32 E [Option ID = 3017]
%9 B, C @32 D [Option ID = 3018]
%35 C, D @32 E [Option ID = 3019]
¢35 A, C @32 D [Option ID = 3020]

AWN—\

Topic:- 19_SH2_Set2_PART_C

1) Ea MpieH AE oS! e Ariw Sea fMee z:

R Feife 2h1es 929w ST Seibies Ao FrEfkem SiF e o[, SHo ¢ FSHRA-SRIAs e[| F=iE 20 9 i sieaiesw oief Frifer st T
G OF T PIRCA I TG IC S =W W, Rgsiy ZrMoRanst AVIE Sy SAFACR STRCRICo TN 419 I NG Sqo->ad AT AT f=eew
THCAED OiF o ifen s sl $oifpfS, Fiaet 31T oifcs sgia Nz o a3 $Afofe afemia s Reorif wor aer caiet v [t g1t 3o
Tn3m 7¥, 93 TfEE Seslfee I (0O ANE; g @it Seolfen o SReitE w9 oI FAl QU ‘Teaife’ AT Aol (e @2 SieaE FAl (e AR @,
IR 7RI ZEeR ReRiM it $94foe 200 a3 Tox &9 a2 @ W SR’ e ol IR [erivg e Fiierr s 3 [erim giere
Toifoe I B T RS I - o497 [ORIT Tobine @R FNSK TG SFoad T FUFR fREH g Si7 W 7B 7RI SHFHIS FrMeiad
o w3 T0g B BN 9% ABEe: P [or, SHeR ¢ GifesIAe AIts) $HEe e, g Fer T4Fe A 1 e 46 gl e
AW FSIT SFIN I ©12 93 2PICs SiF T© SHNGAM AT AT GO AFIANF SHATE FCEH, T 4SS 2 71, T 20 A1 a3 Sfearere 27 At
Tifeas oW 4SS 2o S FoR Sefe 1 Mfetea T 2 O @I A6 AR T, SIRCT OF MG Ty Y SR A IOW T 70 9k a3
TSCE A T Ty O aIfSqt, SIey € (SITFCIA AT QGACRA  SASHT T0og B AT @ SIREY IS fof SMiafqFad 77, ‘S’ -3 IRCa0e
QA ‘SRT TS ‘FENE [TET 20T -3 @I MY (ST B0 @A FCACR, T T AW SIRICIA SUCH a0 cotot I @d o7
SfoTRed IR QFIE TTmH- Y FoT AP FEW O WCo ST AFMIEE @32 [T oSifer 77T drey S 31 SiF Toqm wfeyfem AT 4te

ISR T a2 [eRif 2ox Toivine a1 [T w183y Facer, foff zeem:[Question ID = 756][Question Description =
196_19_BEN_SEP22_S4_Q96]

wBtz< [Option ID = 3021]

=53 [Option ID = 3022]

wBeerab [Option ID = 3023]

wfeawd [Option ID = 3024]
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. sGremgs [Option ID = 3025]

. wfewaee [Option ID = 3026]

. 3ol [Option ID = 3027]

. G [Option ID = 3028]
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198_19_BEN_SEP22_S4_Q98]

. w5eeraEs [Option ID = 3029]

. wBarwe [Option ID = 3030]

=53 [Option ID = 3031]

. ¥ub [Option ID = 3032]
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[Question ID = 759][Question Description = 199_19_BEN_SEP22_S4_Q99]
1. A-ll, B-1V, C-IIl, D-1 [Option ID = 3033]
2. A-lV, B-l, C-lIl, D-1I [Option ID = 3034]
3. A-1, B-lv, C-Il, D-1ll [Option ID = 3035]
4. A-ll, B-lIl, C-1V, D-I [Option ID = 3036]

5) coa v cAtE simast Ao v Sea e 2w
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[Question ID = 760][Question Description = 200_19_BEN_SEP22_S4_Q100]
1. ¢=3= B, C @32 D [Option ID = 3037]
2. 3= A, C @32 D [Option ID = 3038]
3. ¢339 C, D @32 E [Option ID = 3039]
4. =351 B, C @32 E [Option ID = 3040]

Topic:- GP_Set2_SHIFT2_A

1) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30% 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgsifeiRaa axferet 3 A A E ao @ freet 983l 3 g, aAfdensil siiz giicisd @ ol 3 Slorizear @I 9182 - arR il GIRI oRI 3 331 dIferat
3 oo 3riws yferord (%) 3 3, safs @B 3iids e d 3 s aifere! 3 fu 31w sfis] @ e wR offa 3w s1e gesil @ 3= difSe :

SIGIHRRIT BT 9182 - AR AT

SIGIRAIRIT T AT

I8 Yo o — A
A |45%| 30% | 2,000
B |50%| 3,000 | 35%
C (8,000 35% 15 %
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

Population of City 'C' is what percent less than the population of City 'B'?

9182 - 'B' 1 Storizn T detel 3 9182 - 'C' 51 STorizen vl yfererd @ 3 ?



[Question ID = 1050][Question Description = 101_0_GP8_SEP22_S2_Q01]
30 % [Option ID = 4197]

25 % [Option ID = 4198]

20 % [Option ID = 4199]

17.5 % [Option ID = 4200]

A WN -

2) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

fogsifeiRaa anferet 31 A A E ao o fireet 9183l 3 gy, aAfdensil siiz giRisisd @ ol 3 Sorizear @I 9182 - arR il GIRI oRI 3 331 dIferat
3 oo 3riws yferord (%) 3 3, safs | 3iids e d 3 s aifere! 3 fu s1u sfivs] @ e wR ofla féu 31w gesil & 3= ifSe :

SIGIHRRIT BT 9162 - AR AT

SIGIRATRIT BT AT

182 g o — ot
A |45%| 30% | 2,000
B |50%| 3,000 | 35%
C (8,000 35% 15 %
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

If the ratio of literate males to illiterate males of City ‘D" is 11 : 7. then what is the difference between the number of literate
males and number of illiterate males of City 'D'?

afe 9152 - 'D' B foregR gl o1 detoll 3 AR gl o1 3igurd 11:7 3 al 9182 - 'D' & A1eR ymul 3R forgrk gl ol IRen & i o= 3R & ?

[Question ID = 1051][Question Description = 102_0_GP8_SEP22_S2_Q02]
900 [Option ID = 4201]

1050 [Option ID = 4202]

800 [Option ID = 4203]

1200 [Option ID = 4204]

A W N -

3)

Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200




forgeifeiRaa anferat 31 A A1 E ao o fireet 9rs3l 3 yul, aAfdensil siiz giisisd @ ol 3 SlorizRir @I 9162 - arR il GIRII 5RI 3 33 dIferat
3 @ s1iws yfiea (%) 3 3, Safs ©p siies A 3 3 33 difero! 3 e o1w siidps! @ snerR uR ofld e se gesll o 3= S @

SIGIHRIT T 9162 - AR AR

SIGIRIRIT I AR
A |45%| 30% | 2,000
50 % 3,000 | 35%
8,000 35% 15 %
45 %| 3,600 | 25%
38%| 32% | 4,200

[ure23

mon|w

Female population in City 'C' is how much percent less than the sum of male and transgender population of City ‘D'?

9182 - D &I gou 3ii= giIeis? SoRizT @ AleT Ol getell 3 9182 - 'C' &l Ffden Srerizn [bdol yferora @ & ?

[Question ID = 1052][Question Description = 103_0_GP8_SEP22_S2_Q03]
1. 259

[Option ID = 4205]
2. 332 %
" 773

[Option ID = 4206]
3. 5p,

[Option ID = 4207]
4. -ﬁ-ﬁg%
3

[Option ID = 4208]

4) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35 % 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgsifeiRaa anferat 3 A A E ao @ fteet 983l 3 gy, aAfdensil siiz giisisd @ ol 3 Sorizer @I 9182 - arR il IR oRI 3 331 drferat
3 oo 3riws yfererd (%) 3 3, safs | 3iids I d 3 s aifdre! 3 fu 31w sfiws] @ e wR ofla féu 31w gesil @ 3= ifSe :

SIGIFRRIT BT 9182 - AR AR




SIGIFIRIT @I AT

) F:5) p— e ——
A |45%| 30% | 2,000
B |50%| 3,000| 35%
C (8,000 35% 15 %
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

Male population of City 'E' is how much more than female population of City 'A'?
9187 - A &Y AfcI Storizeal WY detoll 31 2182 - E b gy siorizean fepdeil siféras & ?

[Question ID = 1053][Question Description = 104_0_GP8_SEP22_S2_Q04]
2900 [Option ID = 4209]
2840 [Option ID = 4210]
2980 [Option ID = 4211]
2920 [Option ID = 4212]

A WN -

5) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
C 8000 35 % 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgsifeiRaa arferet 3 A A E ao @ fireet 9rs3l 3 g, aAfdensil siiz giRisisd @ ol 3 Sorizer @I 9182 - arR il GIRI oRI 3 33 dIferat
3 oo 3riws yferord (%) 3 3, saf | 3iids e d 3 5 aifcre! 3 fu s1u sfis] @ smeR wR ofla f3u s1e gesil @ 3= difSe :

SIGIFRRIT Bl 9182 - AR AR

STGIRATRIT T AT
"% [ oow |afeams | gremsise
A [45%| 30% | 2,000
B |50%| 3,000 | 35%
C (8,000 35% 15 %
D [45%)| 3,600 | 25%
E [38%| 32% | 4,200

Find the ratio of transgender population of City 'C' to the transgender population of City 'D'?

9182 - D b1 iaasis Slorize1n 1 defoll 3 9182 - C bl ZASIS? SIolRizRII DI 3fould Jddlse ?

[Question ID = 1054][Question Description = 105_0_GP8_SEP22_S2_QO05]
4:05 [Option ID = 4213]
5:04 [Option ID = 4214]
3:05 [Option ID = 4215]
2:05 [Option ID = 4216]

AW N =

Topic:- GP_Set2_SHIFT2_B

1) A newly joined teacher was maltreated in his/her first class by some students. Which of the following measures should be
taken by him/her?

U oM - ORI EAUD D AT 3AD] Usell Bl 3 &l BB Bl SRI giasr b R fosifer¥aa 3 21 Blol AT IURT A 3T 3 clfoll aIfdw ?



[Question ID = 1055][Question Description = 106_0_GP8_SEP22_S2_QO06]
1. Give punishment to the students.
fdrenfefil @l gus Jol aifde

[Option ID = 4217]
2. Ignore the instance and improve his/her qualities for explaining the concept in better way.
3 TCOll W €AT6T of G2 3IUol fATRI (PRIe) @ 3ol 3¢ 3ol 9l af 3iie #ft 3iferd sreeft s A PR clron arfde

[Option ID = 4218]
3. Change his/her time-table to teach some other class.
fepit sro1 el 3 sreuol & 3iuofl AR - M3t I uf¥ader wIon

[Option ID = 4219]
4. Inform the head of the institution for expelling the students.
3izerel d FRA DI BIGI D forewrRIel 3 Jferd Dol

[Option ID = 4220]

2) A studentis a slow learner. What strategy can a teacher employ for him/her?
o B £l 31fer o1 sIfer pat & o 181 3D fere Bl - H PrRiciifa @) ap] w2 APar s ?

[Question ID = 1056][Question Description = 107_0_GP8_SEP22_S2_Q07]
1. Provide video lecture of the topic
forRr uz SR claaR yger o

[Option ID = 4221]
2. No need to facilitate him/her
33 AGG Bl DI AMARIDBAI olal &

[Option ID = 4222]
3. Tell him/her to learn on his/her own
I i A el D fere dicten

[Option ID = 4223]
4. Tell him/her to take private tuition
33 ot sigjfdrerur (cggrer) @ e ets ot

[Option ID = 4224]

3) The main focus of the teacher in designing assessments should be on

o 181 BT il Jifdrpfeud w2l 3 (S3msfoidt) Ix1 &6t (Wav=a) fp=1 ur glon aifdu ?

[Question ID = 1057][Question Description = 108_0_GP8_SEP22_S2_Q08]
1. activities

siferfaferil u

[Option ID = 4225]

2. learning outcomes
3T ufsamvll w2

[Option ID = 4226]
3. attendance
ufderfer ©

[Option ID = 4227]
4. his/her behaviour
D RABR W

[Option ID = 4228]

4) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs have philosophy of Anyone, Anytime, Anywhere and Any number of times.
Reason R: MOOCs are 4 credit courses.

In light of the above statements, choose the most appropriate answer from the options given below

il 51 werot fGu a1e 3 1 v @l sifdrperdt (A) 3iiR g3 @I @Rl (R) a1 srRn 3
sifdraert (A) : Jb 3 DIE off, el oft 3911, BIY 3ft Rpaell R 1 golot forfda drar 3
®RYI (R) : > 4 B Bcd urgaad 8ld 3



SWRfTb D6l D 3Icild 3, forgstifend faraedl 3 A A IUYTD I ol :

[Question ID = 1058][Question Description = 109_0_GP8_SEP22_S2_Q09]
1. Both A and R are correct and R is the correct explanation of A
(A) 3iiz (R) <ot 2 & iz (R), (A) 6 At e &

[Option ID = 4229]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) 3z (R) <xeit a1t 3 wzog (R), (A) bt At o ot &

[Option ID = 4230]
3. Ais correct but R is not correct
(A) &t & wog (R) a8 o1l 3

[Option ID = 4231]
4. Ais not correct but R is correct
(A) &t ot 8 wdsg (R) &6 2

[Option ID = 4232]

5) The symbel (g stands Tor

[Question ID = 1059][Question Description = 110_0_GP8_SEP22_S2_Q10]
1. Copyright
il

[Option ID = 4233]
2. Copied Component
. .

[Option ID = 4234]
3. Creative Component
fipufea wuloie

[Option ID = 4235]
4. Creative Commons
fopufea aiaca

[Option ID = 4236]

6) The advantages of longitudinal research on the internet are
A. The internet panels are representative of the entire population.
B. Everyone has access to Internet.

C. A large number of people can be empanelled.

D. This makes it easy to collect data from the respondents.

E. Data collection over Internet can be rapid.

Choose the correct answer from the options given below:

g0l UR 3ot - ONer @ ot & ?

A. Scole torer 2yl sorizear & yfefoiermcas a1d

B. J1ad> ura sevoic ugd Jer 3

C. a3l Jizean 3 citell o1 It 3 omeieca ($rcr) Rpar s awar 3
D. sz yrnf2Ril A sticps1 Asyfdd 2ol DI IRAT6! Tolldl &

E. seolc uR 31iapsI AoYaur diq s1fer A =it st AIpar 3

ofia 3w are farascul 3 21 ) 3a= gol :

[Question ID = 1060][Question Description = 111_0_GP8_SEP22_S2_Q11]
1. A, BandConly
Dact A, B siiz C



[Option ID = 4237]
2. B, Cand D only
@act B, C iz D

[Option ID = 4238]
3. C,DandE only
@aa C, D ik E

[Option ID = 4239]
4. A, DandE only
@act A, D aliz E

[Option ID = 4240]

7) Given below are two statements
Statement I: If a hypothesis is accepted when it should be rejected, then type | error is made.
Statement II: If a hypothesis is rejected when it should be accepted, then type Il error is made.

In light of the above statements, choose the most appropriate answer from the options given below

offar S1 werol fGu sre 3 :

et - | 1 s/ et grameust @1 s/ 26 31 TRI Silolr a1fde 52 it Fdior o2 forn sirar 3 aq sl osu - | gt 38 urlt sl
@ - |l : S1a fepl graweysil @1 Siaf 31 FHIDRI Siiell a1fay b2 off 531 or1R {2 Siran 3 aa s3di ey |l gfe g€ urdl sl 3
Sueles weril & arrcie 3 ReeriRaa Riaeul 3 3 318 saz gol :

[Question ID = 1061][Question Description = 112_0_GP8_SEP22_S2_Q12]
1. Both Statement | and Statement Il are correct
ool | 3R || el 2t &

[Option ID = 4241]
2. Both Statement | and Statement Il are incorrect
el | 3R || Sletl arera &

[Option ID = 4242]
3. Statement | is correct but Statement Il is incorrect
el | & 8, fpog et |l s 8

[Option ID = 4243]
4. Statement | is incorrect but Statement Il is correct
el | 31t &, fbog el | 3@t 8

[Option ID = 4244]

8) Imagining things as if they are real is known in research as

fep2it ofter 3f avqail oY weuell 53 WU 3 Dol b SRI a8 arad 3 AlSIg &, 3 5 WU 3 SII6ll ST 8 ?

[Question ID = 1062][Question Description = 113_0_GP8_SEP22_S2_Q13]
1. Virtual reality
amerrfl rermef

[Option ID = 4245]
2. Replication

Yorigfer

[Option ID = 4246]
3. Reification
QDT

[Option ID = 4247]
4. Simulation
SIGRPUAL

[Option ID = 4248]

9) Selecting only those items of data that support a theoretical concept, is called

bS] B dBact Iol AGI BT RIeT Boll Sil b bt Agiferd sraemvn o1 FHlcr B 31, as dacir 3 -
[Question ID = 1063][Question Description = 114_0_GP8_SEP22_S2_Q14]



1. Data Selectivity
SDST TRIGICHADBAT

[Option ID = 4249]
2. ldea preference
e adRien

[Option ID = 4250]
3. Concept choice
3IAERYI fdbeu

[Option ID = 4251]
4. Thesis hunting
9lter - yaier bt dAcTor dIol

[Option ID = 4252]

10) In the deductive method, a researcher can begin his work with which of the following options ?
A. Policy statements

B. Social identity of the researcher

C. Theoretical postulations

D. Exploratory data

E. By deriving a hypothesis

Choose the correct answer from the options given below:

fororarar farfer 3t was oNteraat forratferRaa 3 21 et fraseul & rer sruo oner BRI BY RH BT ADar S ?
A. ofifey - weret

B. onterreff &1 Amanfore usarst

C. Jgifer® sgusra

D. sreadl sriwst

E. fop2fl grawcustt &t &gcdsc] B0l D SRT

offa o s1e frepeul 3f 21 13t 392 9ol :

[Question ID = 1064][Question Description = 115_0_GP8_SEP22_S2_Q15]
1. A, Band Conly
Baet A, B sz C

[Option ID = 4253]
2. A, DandE only
@dact A, D sz E

[Option ID = 4254]
3. B, Dand E only
@act B, D iz E

[Option ID = 4255]
4. C,DandE only
@act C, D sz E

[Option ID = 4256]

11) The reification of stereotypes is made possible by communication through the use of

P IURIPT B AL A AFYHUT GRT 36 YUl B Tol arqavl (Rsfisdderst) oY Hera SelRIn SIrdr 3 :

[Question ID = 1065][Question Description = 116_0_GP8_SEP22_S2_Q16]
1. Social equivalence

AAIFSID AT

[Option ID = 4257]
2. Personal attributes

Jafepa spur

[Option ID = 4258]
3. Language



AN

[Option ID = 4259]
4. ldeological linearity

Farfsd sroRaar
[Option ID = 4260]

12) Classroom communication will facilitate learners to

A. meet emotional and social needs

B. acquire scientific attitude

C. develop critical thinking

D. become independent of the community in which he lives in
E. discard the familiar patterns of social relations

Choose the correct answer from the options given below:

e 3 AFAFuvT drgnfRil ol fRpdl JerRMar w¥sm ?
A. AIg6IIcH® Td ATAISID SraoADAIsil b gfef 3
B. dsuferes sifdrgfr sjgvr @l 3

C. sircircreiicdi® Ridel @1 famR1da w3ol 3

D. 31 A1HeRI A ¥ado] slol 3, e as aar &

E. arenfSres sl & uf¥fera dcof o) sero

offax 3w s1e frepeul 3t 2 A8t 372 9ol :

[Question ID = 1066][Question Description = 117_0_GP8_SEP22_S2_Q17]
1. A, BandConly
@dact A, B siiz C

[Option ID = 4261]
2. B, Cand D only
@dqct B, C 3k D

[Option ID = 4262]
3. C,DandE only
@aa C, D siz E

[Option ID = 4263]
4. A, DandE only
Ddact A, D sik E

[Option ID = 4264]

13) Which of the following are the finer points of effective listening?
A. Not observing the speaker

B. Not reflecting back on what is said

C. Staying indifferent

D. Asking questions for clarity

E. Focusing attention on what is said

Choose the correct answer from the options given below:

forgarferiiaa 3i 21 wlot A Yardl ofaur @ sifere ufesgpa Rig 3 ?
A. a1 B £AT61gd D of STl

B. Sil @l 3R 3, 33 UR Yol: Holol of Poll

C. serfior 386m

D. Fusear @ fere geat ggolr

E. 331 uz &161 BfEa ootn, RRId ar 3 Pal sRIT 3



oif<l fu are frapeul 31 3 18l 302 ol :

[Question ID = 1067][Question Description = 118_0_GP8_SEP22_S2_Q18]
1. A, Band Conly
@act A, B aiiz C

[Option ID = 4265]
2. B, Cand D only
@act B, C iz D

[Option ID = 4266]
3. C,DandE only
@act C, D el E

[Option ID = 4267]
4. A, Cand E only
@dact A, C 3z E

[Option ID = 4268]

14) Given below are two statements
Statement I: New communication technologies have created social awareness across cultural boundaries.

Statement II: The disintegration of institutionalised centers of responsibility because of new communication technology is a
hard fact.

In light of the above statements, choose the correct answer from the options given below

ofl SY weror Ru are 3 :

Dol - | : AFYUI D1 oFf ADoill of il Airpiere AHlearsil 3 ANl SIPRs®dr 3cusol 1 3
@l - || : 51 FequUI GienR1dhl & PRUI ITRGIRT B IHFABIA Bl P fdEcs! T g asd 3
IuRfep werol @ el 3 ProiRiRaa Riascal 3 3 21él saz gai :

[Question ID = 1068][Question Description = 119_0_GP8_SEP22_S2_Q19]

1. Both Statement | and Statement Il are true
ool | 3R || Sreil 31t &

[Option ID = 4269]
2. Both Statement | and Statement Il are false
Dol | 3z |1 Slail stet &

[Option ID = 4270]
3. Statement | is true but Statement Il is false
el | 3t 8, fbog et |l e 8

[Option ID = 4271]
4. Statement | is false but Statement Il is true
@l | s1crd 8, fboq el I &t 8

[Option ID = 4272]

15) Match List | with List Il

List | List Il

Type of Communication /Audience Type
IA. Inter-personal |I. Fragmented

B. Organisational Il. Anonymous
C. Mass Ill. Dyadic

D. Social IV. Identifiable

Choose the correct answer from the options given below:

et -1 1 3t -l A AT Bifdre :

It -l Rzt -1l
(33eqE1 & YoR) (eRersii b1 yoR)
A. 3R - Gaftpd |. FUsSICHD

B. ie100ica® 1. srstrex

C. =mus Ill. g=adbRr




ID. smanfrw IV. ugerera hea |
oftdl R a1e Riedl 3 A 7 3a= gfére :

[Question ID = 1069][Question Description = 120_0_GP8_SEP22_S2_Q20]
A-1,B-1l,C-1ll,D- IV [Option ID = 4273]
A-1l,B-1ll,C-1,D-IV[Option ID = 4274]
A-1IV,B-1,C-1ll, D- Il [Option ID = 4275]
A-1ll,B-1V,C-1l,D-I[Option ID = 4276]

AW N =

16) A man travels 12 km straight towards south and then turns right and travels 15 km straight. He again turns right and
travels 12 km. How far is the man from the starting point?

o 316l 12 fpeilsfies cfgror o1 aew Hlen aerdr 3 siiz b2 grd g3 sirar 3 siiz 15 foellsfies Hien acrar 3 as smedfl got: <1 3R P Siren 3 3iiz 12
fepcific: aam 3 YRt fg A sngal fpach gl us 3 ?

[Question ID = 1070][Question Description = 121_0_GP8_SEP22_S2_Q21]
1. 27 km
27 fopcific

[Option ID = 4277]
2. 39 km
39 Rvcifies

[Option ID = 4278]
3. 24 km
24 fpelaficy

[Option ID = 4279]
4. 15 km
15 fpelfies

[Option ID = 4280]

17) Find the missing term in the series below:

0, 6, 24, 60, 120, 210, ?

oft 61 a1 gjzarenr 3 g UG Y NP
0,6,24 ,60 ,120 ,210 ,?

[Question ID = 1071][Question Description = 122_0_GP8_SEP22_S2_Q22]
290 [Option ID = 4281]
504 [Option ID = 4282]
336 [Option ID = 4283]
338 [Option ID = 4284]

A W N -

18) Of the three numbers, the second is twice the first and is also thrice the third. If the average of the three numbers is 44,
what is the largest number?

iler Fizcaail 3, gt Fie uscll Fie oY <Y Iyoil siiz efivadt ot et apefl 3ft 3 afS <ieil izcemsii b1 sira 44 3, AR Tt vz Biol M 3 ?

[Question ID = 1072][Question Description = 123_0_GP8_SEP22_S2_Q23]
24 [Option ID = 4285]
36 [Option ID = 4286]
72 [Option ID = 4287]
96 [Option ID = 4288]

A W N -

19) A person invested 1/3 of his capital at 7%; 1/4 of his capital at 8% and the remainder at 10%. If his total annual income from
the investment is ¥ 561, then what is the total investment made by the person?

g Afep s1ueil el @1 1/3 81191 7 % b1 €2 A, 3iueil Gsit a1 1/4 91151 8 % Y g3 3 3iie 9 s1ma1 10 % T g2 3 forder wear & Afe foraer 3 A et arftfas
3R . 561 3, Al afep g1=1 fpar s e fordor fovaem 37

[Question ID = 1073][Question Description = 124_0_GP8_SEP22_S2_Q24]
1. 6600 [Option ID = 4289]
2. 6500 [Option ID = 4290]
3. 7000 [Option ID = 4291]



4. 5500 [Option ID = 4292]

20) What can be the value of a single discount equivalent to a series discount of 10%, 15% and 25%?

10 %, 15 % 311z 25 % @ IYult A B¢ D RIER Tadel P PI Alel TRAT Bl ADAT & ?

[Question ID = 1074][Question Description = 125_0_GP8_SEP22_S2_Q25]
42.63% [Option ID = 4293]

40.605 % [Option ID = 4294]

35.605 % [Option ID = 4295]

35.625 % [Option ID = 4296]

A WN -

21) In Classical Square of Opposition, if 'Some S is not P’ is true then which of the following could be immediately inferred
from it?

'Some S is P' is false
'All S is P' is false
.'No S is P' is undetermined

.'Some S is P' is undetermined

m o o w »

.'All S is P' is undetermined

Choose the correct answer from the options given below:

Ridreil & o agest i AR 'ws S, P ordl A1A &' axc @ il RreorfrRaa 3 A wtor 21 5313 2R (yrig) oA 81 Jwar 3 ?
‘o S, P 3Id 3 srcra &'

‘a8l S, P 21 &' srere '

. '®lI$ ot S, P ordl 81a &' siforerifya 3

O 0o w »

.'®s S, P 31a &' siforerifea 3'
E. 'asft S, P g1a &' siforerifea 3'
offa fow are eyl 3t 31 73t 302 ol :

[Question ID = 1075][Question Description = 126_0_GP8_SEP22_S2_Q26]
1. A, Cand E only
Ddact A, C 3k E

[Option ID = 4297]
2. B, CandD only
dact B, C iz D

[Option ID = 4298]

3. C,DandE only
Ddact C, D sl E

[Option ID = 4299]
4. A, Band Conly
Dact A, B siiz C

[Option ID = 4300]

22) Which of the following fallacy is a result of defective induction?

foraotferRac 3t 2 Dol AT AT A NPT BT Uf v & ?

[Question ID = 1076][Question Description = 127_0_GP8_SEP22_S2_Q27]
1. Fallacy of Composition

3JfEeel DI dd SIu

[Option ID = 4301]

2. False Cause
foreenepRUT Ga

[Option ID = 4302]
3. Begging the Question
SIHIQRT GIT



[Option ID = 4303]
4. lIrrelevant Conclusion

BYRIBD foreatt

[Option ID = 4304]

23) Given below are two statements

Statement I: "To slow a beast, you break its limbs. To slow a nation you break its people."- is an example of analogical
argument.

Statement II: "To slow a beast, you break its limbs. To slow a nation you break its people”- is an example of nonargumentative
use of analogy.

In light of the above statements, choose the correct answer from the options given below

il Y ool feu a1e 3 :
et - | : "Rp2dl ugl Y Jic Dol B fore 3AD 3ol DI A 51 Rpl g DY Fi Bl D 1 IAD] SIoll B AS 51 "' - A ATCIICID IRP BT IGIEVT

@l - |l : "RpAl a9l @ Jic Dol B 18 D 3401l DI AIS <1 =l e, DY Fic Bl D 1w IAD! SoIdl P AS S1 " - AB AEYA D 31 - YFRPUID YRIBT
@I ISIEIVI 3

IWRfTb Berell B el 3 foreifeiRaa fraseul 3 A 31t 302 ot :
[Question ID = 1077][Question Description = 128_0_GP8_SEP22_S2_Q28]

1. Both Statement | and Statement Il are true
Dol | 3R || el 308t &

[Option ID = 4305]
2. Both Statement | and Statement Il are false
@erol | 32 || Slail st &

[Option ID = 4306]
3. Statement | is true but Statement Il is false
et | 218t 8, fpog et |l stera &

[Option ID = 4307]
4. Statement | is false but Statement Il is true
el | arer 8, fipog et || 31t 8

[Option ID = 4308]

24) Given below are two statements

Statement I: Classical Indian logicians (Naiyayikas) define Upamana (Comparison) as the cognition of the new object through
similarity, known by another means of cognition.

Statement II: Naiyayikas consider upamana as a type of inductive reasoning and therefore view it as a type of inference
(anumana) only.

In light of the above statements, choose the most appropriate answer from the options given below

offar S1 werel fGu sre 3 :

Dol - | : srciRI o1 SRIfRIDl of SUATGT DY IHsiel D 3f6d HIEIGIl KIRT ST AZRAAI D ATERIH A oRil a¥q D AHsilel D WU 3 ARARIA fev 3
Dol - |l : SRRl of IudHIcT DY PREIGT TBUN B YBIR B WU 3 HAoI 3 3R $ARIT 33 DacT IIoIHIoI B TP YDR D WU 3 ST &

IWR[TD Dol B 3l 3 FrafeRa Rracul 3 A A IuYed Ia= ol :

[Question ID = 1078][Question Description = 129_0_GP8_SEP22_S2_Q29]

1. Both Statement | and Statement Il are correct
@erol | 3liz || Sl 218t &

[Option ID = 4309]
2. Both Statement | and Statement Il are incorrect
@erot | 3liz || Seil st &

[Option ID = 4310]
3. Statement | is correct but Statement Il is incorrect
el | 2 8, fipog werat || s 8

[Option ID = 4311]
4. Statement | is incorrect but Statement Il is correct



el | s1erd 3, fbog et 1 21 8
[Option ID = 4312]

25) Given below are two statements

Statement I: According to Classical Indian School of Logic, the method of induction is used to affirm the major premise, since
generality or universality cannot be perceived.

Statement IlI: Classical Indian Logicians give separate treatment of the inductive method.

In light of the above statements, choose the correct answer from the options given below

off<l Gl @erel Ru s 3 :

Dol - | : MR AIRRI GRIRI A D 3Io[AR UPIHGI [ATRL DT YRAIPT Ygd 3MENR dIa 1 F2AUoII 3¢, b1 SiIer 3, ailifes AT 1 Yeagl o181 fepern sir
Ao

wera - |l @ siciiRn onfi=r olenfRrapi of 3etet faf2r 1 srcrer 3 foreuut fp=mr &

Sufep Deroil & arcl 3, PuoftiRaa Riacul 3 A 7 3z got ©

[Question ID = 1079][Question Description = 130_0_GP8_SEP22_S2_Q30]
1. Both Statement | and Statement Il are true
el | 3R || el a1t &

[Option ID = 4313]
2. Both Statement | and Statement Il are false
el | 32 || Srell srier &

[Option ID = 4314]
3. Statement | is true but Statement Il is false
el | AT &, f[pog et || Rt

[Option ID = 4315]
4. Statement | is false but Statement Il is true
el | 3R &, fipog et || A &

[Option ID = 4316]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Free Wi-Fi access to every citizen is one of the objectives of 'Digital India’ programme of the Government of
India.

Reason R : ICT is a powerful enabler of a digitally empowered society.

In light of the above statements, choose the correct answer from the options given below

il 1 perel fRu e 3 1w bl sifdrperet (A) 3R g @ BRI (R) a1 sk &

sifdreerst (A) : geA® oIRIfYe o1 YU arf - BIS dd UEd HIRA IRPR D PRI "B ¥’ & s2oal d A v 3
@Rl (R) : g 2t & Rfsechizr 91 AarST 1 v orfeporrchl uf¥ares 3

IWRITh el B Il 3 forstifpd fraeul 3 3 A8l 3a= gl :

[Question ID = 1080][Question Description = 131_0_GP8_SEP22_S2_Q31]
1. Both A and R are true and R is the correct explanation of A
(A) a2 (R) call a1 2 3l (R), (A) B At <o 3

[Option ID = 4317]
2. Both A and R are true but R is NOT the correct explanation of A
(A) stz (R) ol 31t 8 udog (R), (A) & 3 wimeen o8t 8

[Option ID = 4318]
3. Ais true but R is false
(A) 31 3, w¥og (R) s 3

[Option ID = 4319]
4. Ais false but R is true
(A) s 8, wog (R) 31 3

[Option ID = 4320]

27) Given below are two statements



Statement I: In computer networking, the purpose of changing the IP addressing scheme between IPv4 and IPv6 is to allow for
more IP addresses.

Statement Il: A web cookie is stored on the server machine.

In light of the above statements, choose the correct answer from the options given below

il Y werol feu a1 3 :

@l - | : BRI oleafesar 3, 3 ol df 4 3ii= 3 ot dt 6 & e s o w3RieT Alston 3 uf¥adcr @1 3T iR 3if2res 3 Ui w3l & fore siopfer o 3
@t - | : da @bl = aAofier 3 ik wsar 3

SuRfep Deroll & arcil 3 PreiRiRaa Riascal 3 3 31d saz g :

[Question ID = 1081][Question Description = 132_0_GP8_SEP22_S2_Q32]
1. Both Statement | and Statement Il are true
e | 3R || el 31t &

[Option ID = 4321]

2. Both Statement | and Statement Il are false
el | 32 || Slell srir &

[Option ID = 4322]
3. Statement | is true but Statement Il is false
el | AT &, fpog et || Rt &

[Option ID = 4323]
4. Statement | is false but Statement Il is true
el | 3RI &, fipog et || A &

[Option ID = 4324]

28) Given below is a typical URL that identifies a web page: http://book.com/author/index.html

The hostname 'book.com' is converted into an IP address by a server that has a database of matching names and
addresses and is queried for the address.

offr v gferstl I 3= wet &= sRi 3 Sil vop a9 O 3 Jdfira 3 :
http://book.com/author/index.html

8lk< old 'book.com’ v 31$ Ul U3 B WU 3 AdT GRI JUIAR 81 SIIAI 8 3 A 3 o1 3112 TFA D YJIcTol BT U SICIRA BIdl 3 3R B3 &1 sifa war
3
[Question ID = 1082][Question Description = 133_0_GP8_SEP22_S2_Q33]

1. SMTP
o1 oAt &t

[Option ID = 4325]
2. FTP
o & d

[Option ID = 4326]
3. DNS
Sl vor vA

[Option ID = 4327]
4. HTTP
vad A

[Option ID = 4328]

29) If you have a storage device with a capacity of 16 gigabytes, then how many 2 kilobytes files can you fit in that device?
(1KB=1024 bytes)

i 3aa URT 16 sfisI drse gEIdT are JsIavI id (XS 3arsA) 8, 2 fpdlarse graaar arcil fipdaeil wrsel @1 31 =i 3 St A a1 s Apar s ? (1
fepcitarse = 1024 arsc)

[Question ID = 1083][Question Description = 134_0_GP8_SEP22_S2_Q34]
1. 223 [Option ID = 4329]
2. 225 [Option ID = 4330]
3. 227 [Option ID = 4331]



4. 229 [Option ID = 4332]
30) Identify the correct order of the following developments ( A-E ) in the history of computing from the oldest to the more
recent:
A. Facebook
B. Internet
C. Calculator Machine
D. Computer mouse
E. Programming language

Choose the correct answer from the options given below

uf¥derol (DFRIfes1) D sfrera 3 fogorferl3aa famral (T - §) @ 38 B D) Yrehioradt A ordlorad & ma A Rifosd HIfSe :
A. BIg®

B. gcoic

C. derapeics aofior

D. owie: aA

E. giepifiier smrar

ofia 3w ar1e farascul 3 21 1) 3@= gol :

[Question ID = 1084][Question Description = 135_0_GP8_SEP22_S2_Q35]
A, B, C, D, E [Option ID = 4333]
C, B, E, A, D [Option ID = 4334]
C, D, B, E, A [Option ID = 4335]
C, E, D, B, A [Option ID = 4336]

A W N -

)

31) The share of renewable energy in the energy mix of our country sought to be achieved by 2030 is now

THAR S9I B Joll 1I19)uT 3 ordiasvii=r Fuif @1 sier 2030 awm 3ra fobden grd fop=r Sirom 3 ?

[Question ID = 1085][Question Description = 136_0_GP8_SEP22_S2_Q36]
35% [Option ID = 4337]
40% [Option ID = 4338]
45% [Option ID = 4339]
50% [Option ID = 4340]

A W N -

32) Formation of photochemical smog involves the following
A. Carbon dioxide

B. Volatile Organic Carbon

C. Sunlight

D. Methane

E. Nitrogen dioxide

Choose the correct answer from the options given below:

Y19l IRARITOID &3 - BIa1 @ foraaivr 3 foraiferRaa onfirer a1 3 :

A. ©rdel SI¥ TS

B. dlciersea sieifore wrdet

C. 3 @1 ywr19r

D. o1

E. sisqstet 18 sifarirss

offax fow s1e frepeul 3f 2 18t 392 9ol :

[Question ID = 1086][Question Description = 137_0_GP8_SEP22_S2_Q37]



1. A, BandConly
Dact A, B siiz C

[Option ID = 4341]
2. B, Cand E only
Dact B, C 3t E

[Option ID = 4342]
3. A, CandD only
Ddact A, C 3iiz D

[Option ID = 4343]
4. A, Band D only
@act A, B sk D

[Option ID = 4344]

33) Dioxins are produced as a byproduct of
A. Forest fires

B. Incineration of plastics

C. Chemical processing

D. Volcanic eruptions

E. Diesel fuel combustion

Choose the correct answer from the options given below:

sT33MIfRTet forFatfeiRaa @ Iulcurs @ Su 3 3ctool BIdT 3 :

A. gt 51 31191

B. wenfRcw o1 s1zdfiapzur

C. Irriford AArerot

D. saremEI 3gR

E. SISt erei gt

ofid f&u are fareul 3 A 181 342 gol :

[Question ID = 1087][Question Description = 138_0_GP8_SEP22_S2_Q38]

1. A, Cand D only
@aa A, C, D

[Option ID = 4345]
2. B, Cand D only
@aa B, C, D

[Option ID = 4346]
3. C,DandE only
@aa C, D, E

[Option ID = 4347]
4. B, CandE only
@act B, C, E

[Option ID = 4348]

34) The Indian Government has recently pledged to reduce the projected carbon emissions by

HIRA IRDIR ol 318l a1et I 3rgpenIfora wrdel ISl DY BA Dol B e =i Yferagar siars 3 ?

[Question ID = 1088][Question Description = 139_0_GP8_SEP22_S2_Q39]
1. 1 billion tons by 2050
2050 aw 1 faferrer cor &bt aoft

[Option ID = 4349]
2. 1 billion tons by 2030
2030 aw 1 faferrer cor &bt aoft

[Option ID = 4350]
3. 2.5 billion tons by 2050



2050 aw 2.5 fferror cor &6 woft

[Option ID = 4351]
4. 100 million tons by 2030
2030 am 100 fiferrer ot &bt @t

[Option ID = 4352]

35) During nuclear fission process, the speed of neutrons is reduced to a critical value by using following moderators:
A. Deuterium

B. Graphite

C. Monazite

D. Tritium

E. Heavy Water

Choose the correct answer from the options given below:

stf3rhT fredser yfeprn @ Sirel foaifeiRaa sicml & YRIPI SIR1 Giferd ATel Bl B fp=I Sar 3 :
A. aefra

B. Jwrsc

C. HAeIIIsT

D. Rfear

E. a3l st

offa fou are faracul 3 21 18t 3@= gol :

[Question ID = 1089][Question Description = 140_0_GP8_SEP22_S2_Q40]
. A, Cand D only
Dact A, C iz D

1

[Option ID = 4353]
2. BandEonly
et B 3ik E

[Option ID = 4354]
3. B, Cand D only
@act B, C iz D

[Option ID = 4355]
4. D andE only
@act D siiz E

[Option ID = 4356]

36) Given below are two statements
Statement I: Punjab University was established by a Special Act of Incorporation in 1914.
Statement II: University of Allahabad was established by a Special Act of Incorporation in 1887.

In light of the above statements, choose the most appropriate answer from the options given below

off<l I @erel Ru s 3 :

eyl - | : donda fepafdemert 1914 3 vep fa9d Jerdere sififorReT SR Fenftra fop=1r sRIT e
el - |l : scnsars faafdencrr 1887 # v fa9iy Farderet ifeiforer G=1 Fenf fipen s e
IWRETS el @ 3irell 3 forrarferiRaa fraeul 3 1 AeRT IuT I goi :

[Question ID = 1090][Question Description = 141_0_GP8_SEP22_S2_Q41]
1. Both Statement | and Statement Il are correct
@erol | 32 | Sleil 218t &

[Option ID = 4357]
2. Both Statement | and Statement Il are incorrect
@erol | 32 | Slail aretd &



[Option ID = 4358]
3. Statement | is correct but Statement Il is incorrect
Pl | @ 8, fpoq weret |l steta 3

[Option ID = 4359]
4. Statement | is incorrect but Statement Il is correct
el | arer 3, fpog derer || 2@t 3

[Option ID = 4360]

37) According to the National Education Policy (2020) all affiliated colleges would eventually transform into degree awarding
autonomous colleges over a period of

eI foren ofifer (2020) @ 3R fpaeil srafn didor uz sfl Hag Bicrsil @l siaa: 33} srars @w2el aral widsil 3 waiaf¥a o2 &= sieen ?

[Question ID = 1091][Question Description = 142_0_GP8_SEP22_S2_Q42]
1. 10 years
10 adf

[Option ID = 4361]
2. 15 years
15 adf

[Option ID = 4362]
3. 25 years
25 adf

[Option ID = 4363]
4. 30 years
30 adf

[Option ID = 4364]

38) During the British rule who among the following said, "...our system of higher education in India is a failure; that it has
sacrificed the formation of character upon the alter of cram."

ffeor omRior @& Sieret forrotfeilRad 3 3 fiperal war o, "sra 3 saRl I<a g yunedl frwa 3; s10 21 a6l o1 A<t uR afeq forafur o1 afer agr §1 "

[Question ID = 1092][Question Description = 143_0_GP8_SEP22_S2_Q43]
1. Annie Besant
wofl fRlee

[Option ID = 4365]
2. Dalhousie
Scraioft

[Option ID = 4366]
3. Curzon
@otol

[Option ID = 4367]
4. Macaulay
ApIct

[Option ID = 4368]

39) A Government institution recognised as an Institute of Eminence is to get additional funding of

cIeeI-yferss el @& BU 3 AIA-grd el 3R RY Fivend &1 fopaoft siferfy foifer Rrersft ?

[Question ID = 1093][Question Description = 144_0_GP8_SEP22_S2_Q44]
1. Rs 100 Cr
100 315 &

[Option ID = 4369]
2. Rs 200 Cr
200 ®As ¥

[Option ID = 4370]
3. Rs 500 Cr
500 @5 5



[Option ID = 4371]
4. Rs 1000 Cr
1,000 o3s 5

[Option ID = 4372]

40) Given below are two statements
Statement I: According to National Education Policy (2020) the Gross Enroliment Ratio (GER) is to be enhanced to 50% by 2030.
Statement II: Distance mode education is going to play a crucial role in enhancing GER in India.

In light of the above statements, choose the most appropriate answer from the options given below

ofl<I 31 @erel fGu a1 3 :

@l - | : e 3181 ofifer (2020) @ 31oRAR Ad>ed oIl ifurd (Sil.3.31R.) @Y 2030 awm 50 yferora Fafefa fepan sirar 3
oot - 11 @ gzrer ez foren sira 3 Sit.$.3me. @ FHatlor 3 v Fscaygut sfirer foramesit

IWRfTD Dereil B Il 3, PrreiiiRad fraedl 3 A A U IR ol

[Question ID = 1094][Question Description = 145_0_GP8_SEP22_S2_Q45]
1. Both Statement | and Statement Il are correct
@erol | a2 || Srelt a1dt &

[Option ID = 4373]
2. Both Statement | and Statement Il are incorrect
@erot | 3liz || Seil st &

[Option ID = 4374]
3. Statement | is correct but Statement Il is incorrect
el | é 3, fpog werer || srcra 3

[Option ID = 4375]
4. Statement | is incorrect but Statement Il is correct
el | s1erd 3, fvog werer 1 21 8

[Option ID = 4376]

Topic:- GP_Set2_SHIFT2_C

1) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgotferRaa sterior oot ufeu siiz Yool @1 34z i :

Bfea, cifop SR F3Al i AP 3dde RIGIA®R Y2 vl 31 dR 3 3oIHd Siod [Iarvll bl 3ol BT YRRT ofdl @2 W@ A b I DI 3gd DA
B3 TAD SOIRI d IRDR DI T[T D MMER DI Aol DI YARI a2 B I clichal As AR del 3pil off IuRIEH & 16 a=im Dol Irar &I Femuer
@ feru SroretredRI cisll 3 Fute AHsiia @ fpft Fasu o A A YU ASA BT 36d 3 Uil 2g9ft 3 & ol B0l D 3If2PR B T B dcar
3 elfare dieat s siafelfda Jer "wersiiar St &l Faen oar 3, AU (ARRIE) g6l 9c1 & UBIHAPR CRI YD olPI¥D &l JAcmid Jel



Bl 3IRE SATZ IS ArSIfored 3l & 316a YbRI DI off Yo B2 ADd & ORI SIPIie Fari A oidl rd @2 Add & S Hufer ot ifererR,
AP, Pgl, ubldd asiel iR Al ; 91_r I8

SAD dcal A oIPIND ISA B B2 DI RIBR, IIDET DA A civIl6l 33T 3100 Ioldbl HidT arcil <iisll @ 3IfdR 3A T SlolelIdRI AATST Jold>
DodIdd A D T D PRI A M Arfsifors RBal ol ygrel &2 Addar 3 sAfT Al IS ATMRIB Ieldel SRI 3gd e dl & 3 sfert
3 3 fdig U= 31l 17, S SIolSIARI AHF of 3Uol IUR 9IRTGT 3, FAeSIYdD 3uofl sifereirIcs ardl orfepal @I fepil v cafep i gearifSia wo
I forvfr ferm 1=t SiiR 33rdd Wsfl d9rsll @ féru SersIdRI Ygia @ forditiol @ U # YcAaRIISiol SR-RIL of dlas? Feril den 3k us il

SIGTSIIIRI 23] & Pl UR ARIFAT & MR UR ¢IF] ol &1 KRR A Yo & SR AfS 33 A3Eila @ 3R o8] ure Sl UR 3R d162 I Siiol
oI fameu diis o1 A8 31id srRisifaa yedla diar 3 b gerar s fopil yuse Apnfoie sregder @ e 3f3d gu sPR 321 il gfYa ool arcl 42
AT 34 A e dre A Si o5 Huftr iRl o1 Fgr sierdar Ardsifore f3dl @1 Sudel SiersIdRI TSI FAAIaIG! iR forme Fzgorrarch
degar smenf¥ APs 3 Sit b Shdel Sfict d 3t T suD Audla Isw sratis® 3R UsIpfie 3 53@T Jdad 3 b - e o arafis o
& srerar fZar oot waer 3

The social contract theorists sought explanations:

[Question ID = 1095][Question Description = 146_0_GP8_SEP22_S2_Q46]
1. For the legitimacy of government
9IRYGT bT Jerelr @ fere

[Option ID = 4377]
2. For the emergence of the State
IS D Igd D g
[Option ID = 4378]
3. To understand the need for authority
Al b SMAADBAT DY IS D e

[Option ID = 4379]
4. To make social contract as the final cause
ARG 3rolder Bl 3ifcet foIfdrd & 3 3 goiol B fore

[Option ID = 4380]

2) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgotferRae sterior oo ufeu silz yesil @1 3= S :

gfed1, cifop 3R H3l i AMISID 3refdeT RIgIA®R Y26t evcall 33 aR 3 3iofHd Sio [rarvll ol ol BT YRR ofdl @2 38 A b I &I 3ga DA
BT 3AD FOIRI d IRPR DI JedT D MER DI AASIol DI PART 2 8 A cifpol As @R won il off =il 3 &6 a=r Dol Jr@r &I Femuen
@ {10 SToTSIRI cliell 31 Tute AIEiid D il TaHU oD ATEAT A YA IS DI 3.5d 3 Uil 2g9ft A T 91t Dol D 3MfUPR D =IPT D Tl
3 eifera dic s sidfoifda Jer "Aasiiar "Siar’” bl ol DI 3, IS (CIfSRITIGT) U6l §c B TDIHADPR SRI YRID ollPIed DI JeTHe A8
&6l 3IRE AT & s Ardsifors Bdl @ 3o gRI @) 91t Ygd @2 Ada 3 PR oieIf¥e =i A ofdl YId 2 Add & SiA Aufer o1 siferor,
AP, HH, whlpd asior Al aimal ; e 28



SAD dcal A oIPIND IS Bl B2 DI RIBR, IIBET BIA A civllel 3T 31600 Ioldl HidT arcil <iisll @ 3IferdR A T SlolSIIdRI AATS Iold>
DoSIpd A D /T D PRI A M Ardsifors RBal ol yglel &2 Addar 3 sAfT Al I ARG eldel SR 3gd ge dl & 3 sfert
3 31 fig U 361l B9, S SIoISIARI AHF of U6l IUR IIRTGT 3, FASIYdD 31uofl sifeeiRI ardl o1fepl @I fepil v cafp i grarNiia oo
@I forof R AT 3R 3@ M3l dorsll @ fre SToreId ygia @ forafaet @ U 3 Yoarilsial RARM o gl Fardl gn 3iiz us it

SIGISIICRI ST B HPI UR ARAFAA D TER UR ¢IF] Bloll AT R4 A YD D FRI AfG I A D IMRAA o181 UIT Silol UR IR d182 Tl Siiol
oI fpcu i o1 A8 31id srRisifaa gefla diar 3 v gerar s fopeit yuse Apnfore srgde @ s 3f3d gu sPR 321 nfl gfYa ool arc #2
AT BU A ffd dR® & SiA b Aufe siffreR) o Agvr srerar Ardsifora 3dl @1 Suder SiereidRI AT AAAA] iz forde Avdenmarcit
degar srenfye s 3 Sit b Sfidoel Sficl @ 3t 3 suD [Audla Isw sratise 3R UsIpfie 3 53®! Jdad 3 b - fomivr o1 arafds o
& srerar a1 oot war 3

The State offered each citizen basic security

IS ol YRID oIeIfed o1 el J28N DI gdd fop=an

[Question ID = 1096][Question Description = 147_0_GP8_SEP22_S2_Q47]
1. Making the state a Leviathan
ISR Pl U TR Tollol 3]

[Option ID = 4381]

2. For the privilege of paying taxes
D2 YIAlel D [AIWIEIDR 3
[Option ID = 4382]

3. For giving up his/her freedom
3ADI/ 3AD! IAAGAI BISal 3]
[Option ID = 4383]

4. For the right to conscript
IRDBL AdI 3 oIl 3

[Option ID = 4384]

3) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgarfeiRaa srerior oI ufegu siiz gesil a1 Iar Sifvre :

gfed, cifop SR F3l i AMISID 3eddeT RIGIA®R Y26 evcl 3 aR 3 3ioIHd Sio [Iarvll ol 3ol BT YRR ofdl @2 @ A b I &I 3gd DA
33T TAD SOIRI d IRDR DI JEAT D 3MMER DI Aol DI JARI 2 B I ciicha As AR det 3nil off SuRieh 8 15 a=m degla Irar &I Femuen
@ foru SroreIrdRI clisll 3 Fute AHsia D fpft Fasu o A A YU ASA BT 36d 3T U6 2g9ft 3 & ol B D IfUPR D T B dcar
3 eiferaa dica s sidfoifdd Jer "Aasiiar "Ster” bl ol DI 3, AU (CifdRATI6T) UGl §cl B TDIHADPR ERI YRID oI Dl et J8I
Bl 3IRE AT 3 IS ArdSIford 3l & 316a YbRI DI 91l Yo B2 ADd & ORI SIPIiRe Fari A oidl i @2 Add &SI Hufer ot iferer,
AP, YgI, Uy asiol 3iiR T ; araT 8

$HD dcA A IPING ISA DI B2 DI JARBR, AIBH B A colol 31T 316 Joldl Aol arcll disil @ siférer A3 STeteIdlRT JATST Jotd>

Dodipd FAI D 3 D PRUT Al HBa Ardsifors Bl ol yelol @2 Awar 3 s=afere Al Isa ARG egde $RI 3gd gu dl & 3 iRt
3 331 fdig U= o1l 8191, S SIolSIARI AHG of 3[Uol IUR 9IRT6T 3d, FAeSIYdD 3ol sifereirIas ardl orfepl @I fepil v cafp d gyearifSia oo



oI forolr R 26T SR A 9fl d9rsll & feru StorsidRI ggza @ forafaet @ U 3 YRIRISe 3RARM of Sl Faril k1 3k A i

SIGISITART 28T @ HPI U AT D LR UR oIF) Bloll AT BRI A YA® & SRI A 33 eEia @ 3R ol ure siel UR 33R1 d182 dcl Siol
@I fapeu #lslg o A8 sicia sRifaa yefia aiar 3 5 yera s fopeft Tute Apnfere sioder @ aree 3f3da gu 3pR 31 anfl gfva ool arcr 42
ARG U A MMd BRD I S b Aufed iferpRI o1 811 srerar Ardsiform Bdl @I Iudel SielsIiRI AATST JIAEK! 3R forde Jaetarcit
SEAr 3menf¥d APs & Sil Fb Siidol Sfiel D St T 3D faudia s sradise 3k Ui 3 $3®T JAdad 3 6 Isa-foriivr o1 ardafas e
&1 srerar &1 o1 WaaRT @

What, according to the author, was unlikely?
SURITH JTENYI B GIRR TRII RisMIfa o ?

[Question ID = 1097][Question Description = 148_0_GP8_SEP22_S2_Q48]
1. Tribal societies were egalitarian.
SloTSIIcIT JHIST AFATAIST O

[Option ID = 4385]
2. Tribal societies preferred freedom to live the way they wanted.
SIoTSIIART AT FAAGAT DI TIRIAT Gt dAIfs d 3ol AMD A B AD

[Option ID = 4386]
3. Tribal societies were close-knit kinship groups.
SlofSIIARI AT ol ol degdr menf¥d s &
[Option ID = 4387]
4. The first state arose out of an explicit social contract for promotion of public good.
AdSIOID 8 @ YieMsol D fe1u Jute ABIRID 3rofdel 3 YT A DI 36 B3I

[Option ID = 4388]

4) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgotferR3ae sterior oo ufeu 3z yeoil @1 3= S :

Bfca, ciid 3iiz B2l Sid APIRID 3iolael RIGIA®R Y 6T 1 dR 3 36ld SIoed farull Bl Sol DI JRIRI o18l a2 38 I b I @I Iga DA
33T TAD SOIRI d IRDR DI JEAT D 3MMER DI Aol DI JARI R B A cifchal As AR delr 3pil off IuRieh & b a=im Dol Irar &I Femuer
@ feru SroreIredRI cisll 3 Fute AHsia & pf Fasu o A A YU A BT 36d 3 U6l 2g9ft A & ol B0 D Af2UPR D =PT B dcer
3 elfaret dieat s siafelfda 1 "wersiiar "Ster” &l Faen ol 3, ISA (ARRIC) U6l 9c1 D UDIHAPR CRI YD olPI¥D &I JAcmid A8l
&6 a1 AT s Ardsiford Bl @ 3oa goRI @) 9t Ygd @2 Adba 3 RBRY aieIf¥e =i A oidl Yrd o2 Ada & SIA Aufer ot siferor,
AsD, P, whld asiot Il aimal ; aEr 28

SAD Al A SIPIND ISA DI B2 DI RIDBR, DI BIA A cieI6l 3T 3o Ioldl dieT archl disil @ 3IférmR A 3 StolsIIdRI AT Jold>
DoGImd Adl D M D PRYI Al Alfda Ardsifsrm Bl @l yelol @2 Awdar 3 sAferg Al Isa AAMSID srefdel TR 3.gd gu dl &4 3A siasra
31 3 1&g UR 36l BIFTI, S SIGISIICRI A of UGl IUR 9IRTH 3q IABIYAD 3ol eI ardt orftpal @I [bil v caftp 3 YAl oot
I forvfr ferm 1=t SiiR 33dd Wsil d9rsll @ fe1u SrersIdRI Ygiza @ forditiol @ U # YeARIISTol 3R-RIL of gla? Feril den 3R us il
SToISIIART ST @ HPll U2 A B MMER UR IF) Sloll AT BRI A YA & RI Al 33 FeEiia @ IR ol ure siel UR 33RY d162 dcl Siiol
@l fapeu dlslg o A8 3icdd srRisfaa yedia dlar 3 5 e s fopeft Tuse Apnfres sioder & arse 3f3d gu 3pR 327 anft Yfva ool arcr #2
ATAIG 34U A M PR A S o5 Hufer iRl o1 Fgr srear Ardsifore 3l @1 Sudel SiersIdRI TSI FAAIard! iR forme Fzdorarci
deger smenfyd Age 3 St Jep Sfiaet Sfiol & st 3 s Radla s sadise iR ucigpfies & $3rm! side™ 3 5 rs-forfur o1 arafas e



= srerar B o1 Tawr 3
The author's argument is that the first state did not emerge

TP DI dD 3 [ YA IS DI 3¢ 33D ferg o181 gam ar ?

[Question ID = 1098][Question Description = 149_0_GP8_SEP22_S2_Q49]
1. For public good
JArdsiford & 3q
[Option ID = 4389]
2. For protection from external invasion
QIET SIAII0T I ALV 3
[Option ID = 4390]
3. From voluntary delegation of power
IIftp @ FARBTD BIARYI 3

[Option ID = 4391]
4. For an efficient cause
oIl foIfdrT 3

[Option ID = 4392]

5) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgsifeiRaa srerior oI ufeuw siiz gesil a1 IR Sifvr :

gfeat, cifop 3R H3l SiA AMISID 3refdel RIgIA®R Yeet excal $3 aR 3 3iopd Siod fIarvull &l ol I YRR ofdl @2 3@ A b I &I Igd DA
33T 3AD FoIRI d IRPR DI Jed1 D LR Dl AHASIol DI GART 2 8 A cifdbol As far won it 9§t IRl 3 o6 a=i dodlr Jran &t Femuenn
@ fere Srersiredl eiisil i Fuse AAsiia D oAl Fasu D AeAA A Y ISA DI 35d g3 Uil 3ol A ©o il D6l D IfUDPR D =PI D doar
3 eifera dic s sidfoifda 1 "Hasiiar "Siar’” DI ol Dl 3, IS (CIfSRITGT) U6l §cl B TDIIPR SRI YRID ollPIed DI JcToied A8
&l 3IRE AT 3 IS Ardsiford 3l & 3r6a YRl @I off Yo @2 Add & ORI oIPIi¥e Fari A ofdl grd @2 ADd & SiA Aufd or 3iferpr,
ASD, YgI, Wby asiol 3R T ; aI&T 381

$AD dGcl A SIPIND IUSA DI BT DI AUDBR, AIBEI BRI 3 cPlol IR 3161 Joldl Hior arcll disil a5 sifererR A3 SiosIrdRI JATST IoTd>
DoSID A D /T D PRI A, AT Ardsifors RBal ot ygrel &2 Addar 3 sAfe Al I ARG elde $RI Igd ge dl & 3 sfierr
3 3 fRig U= 3611 891, S SIGISIARI A of U6l IUR 9IRTGT 3q, IASIYdD 31uofl ifeeIRI ardl oIfRpl @I fepeil v aftp 3 grARNRIA Bt
oI forol ferr 3rer siik 33 il dorsll @ fere StersidRI yggza @ forafel & U i YrarIsiel 3R-ARI of Sl Feuril o1 3k s il

SIoTSIIc XS] @ HPI UR A D MR UR oiF], Sloll AT RRE A YRID D GRI AfS 3 IS D IR olél ure Sirel U= 3R d162 el Siol
oI fpey Al o1 A8 s1id srRisifada yefla diar 3 s gerar s fopeft yuse Apnfre sggde @ s 3f3d gu sPR 321 anfl gfva oo arc #2
ARIGA 34U A s dre A SiA 5 Aufe sifererl a1 JFervr srerar Ardsiforas 3l o1 suder  StesicdRn Jarst Aaamact iz forae Fsaemarci
degar renfy s 3 Sit b Shidoet Sficl @ 3t 3 suD fAusla Isw srafise 3R UsIpfie 3 s3®I ddad 3 b - o o arafds o
&2 srerar 221 @1 wawr 3

What does the passage posit in the final analysis?



SURNTD SIENi9l 3ol siferar faecswur 3 o= 61 waar 3 ?

[Question ID = 1099][Question Description = 150_0_GP8_SEP22_S2_Q50]
1. The state formation is done under the shadow of violence.
3G I foraiur B2 b yfercesan 4 fpar sier 8

[Option ID = 4393]
2. Tribal societies voluntarily gave up their rights for limited public good.
SiotsIicdl sl of Fifewd Bu A 2ifda Ardsifors &a 3 et siftrprR! a1 ufsermet fpen

[Option ID = 4394]
3. State formation and voluntary social contract are inseparable.
I i forfor 3l FdfRed ARSI Aersiar sygeramuftr &

[Option ID = 4395]
4. Tribal societies always preferred a dictatorial dynasty.
SIoTSIIcRI JASH of AS SfIeIRID drct dell @t adterdr &t &

[Option ID = 4396]






